UG-353 BAF-35

B.Com. DEGREE EXAMINATION —
JUNE 2012.

Third Year
Accounting and Finance
ACCOUNTING FOR MANAGERIAL DECISIONS

Time : 3 hours Maximum marks : 75
SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

1. What are the advantages of management
accounting?
CemerTenLn &eanrdE L0 6T [beTenD&ET WITene?

2. Explain the different types of financial statement
analysis.

Bl flene <idlsams Liglumieiler euamssamar alleTsEs.
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Discuss the limitations of ratio analysis.
s ellflgnisafler cumyummsamer aflourslss.
From the following information, find out current
assets, current liabilities and value of stock

(a) Current ratio = 3.5

(b) Liquidity ratio 2.5

(¢) Working capital Rs. 1,00,000

emeupd sseusaldmbg LY QFTsg), BLLIL
Qurmtiy wHmb #F&E @@Ly wHlbGamanyb Sremrs.

(=) pLUL Qs = 3.5
(<) Birenw aldlgn 2.5
(@) BeLpep s ep. 1,00,000.

Prepare schedule of charges in working capital
from the following information :
31.12.08 31.12.09

Creditors 30,000 40,000
Bills payable 38,000 25,000
Stock in trade 70,000 90,000
Debtors 48,000 40,000
Bills receivable 40,000 45,000
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Yemeupd HHeuDSTNI(HHG BenL(PedD (PS WTHM
SDGDHMUI SUITTES
31.12.08 31.12.09

sLatBCHTT 30,000 40,000
Qegusgsn@&MNu LrHmd G 38,000 25,000
FT&E (mUILY 70,000 90,000
FHL_GTTeT &6 48,000 40,000

QuosHGIW wrHmES G 40,000 45,000

SECTION B — (4 x 15 = 60 marks)

Answer any FOUR questions.

Explain the difference between management
accounting and financial accounting.

Cuwerareno SIS W QI&HG LD HlSludluied
sETHSHWIEGD 2 emer CoumimHsaer aNlemd:@s.

Following are the ratio relating to a company,
ascertain sales, debtors, stock and creditors.

Debtors velocity — 90 days (360 days year)
Inventory turnover — 3 times

Creditors velocity — 90 days

Gross profit ratio — 25% (Rs. 18,000)

Bills receivable Rs. 2,500 and bills payable
Rs. 1,000

Closing stock is Rs. 2,000 higher than opening
stock.
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@ Bmiwsder Weareumb saeudwsemell(mbgl dlbuee,
sLamaflser #r&d LY wHmID sLaTBECHTT HliTenruiss.

sLanreflger cu@ad smeod 90 Brlser (eumLsHm@ 360
BITL_&ET)

FT&E mUL SLHE 3 HLane

sLBGCHTT QFauss sred 90 B ser

Q@wrgg eorub alldlsd 25% (em. 18,000)

QuusH@iw wrHm .6 5.2,500, Qeausgsn@ v
oronpd G e 1,000, @Qmd srsHmLy Csrids
aradlmLlien el ep. 2,000 flsmE.

8.  From the following balance sheet of Jeevan Ltd.,
prepare funds flow statement.

Balance sheet
Liabilities 2009 2010 Assets 2009 2010

Rs. Rs. Rs. Rs.
Capital 70,000 74,000 Plant 10,000 5,000
Debentures 12,000 6,000 Land 20,000 30,000
Creditors 10,360 11,840 Stock 49,200 42,700
Debtors 14,900 17,700
P& Lalc 10,740 11,360 Cash 9,000 7,800
1,03,100 1,03,200 1,03,100 1,03,200

During the year 2010 dividend of Rs. 4,000

was paid and land was purchased for 15,000.
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Bouar HmwsHer Q@uy Howscilddnss  HE

BLOTL L Sd&emsamul SuImiés :

QUL Bleved@HlliLy
Qurmyliyser 2009 2010 Qarggisser 2009 2010

LIk (PGS 70,000 74,000 Quibdrd 10,000 5,000
SLa LSS TID 12,000 6,000 Hled 20,000 30,000
sLathCa 10,360 11,840 syéflmuy 49,200 42,700
@omupl s/ 10,740 11,360 s_ameflsdr 14,900 17,700
Qrésid 9,000 7,800

1,03,100 1,03,200 1,03,100 1,03,200

Ll e 201060  umsrgmwbd  em. 4,000
QegugsliulL g womd Heowb @ 10,000 &g
GUITRIGSLILIL (HeTerg).

From the following balance sheet of Sudesh Ltd
for the years 2009 and 2010 prepare comparative
balance sheet.

Balance sheet

Liabilities 2009 2010 Assets 2009 2010
Rs. Rs. Rs. Rs.
Equity share Land and
capital 80,000 80,000 building 80,000 74,000
8% debentures 80,000 90,000 Plant and
Retained machinery 60,000 54,000
earnings 40,000 49,000 Furniture 20,000 28,000
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Liabilities 2009 2010 Assets 2009 2010
Rs. Rs. Rs. Rs.
Creditors 50,000 70,000 Stock 40,000 60,000
Bills payable 10,000 15,000 Debtors 40,000 80,000
Cash 20,000 8,000
2,60,000 3,04,000 2,60,000 3,04,000

Gemeumd &Cspey HlmiwgHer 2009 womib 20101
@ HaEs@Hiu Qi Blaow GHlinddmhg)
RUISLH Qmuy Baesemiudamer sumflés.

Bouy flaws Gy
Qurmtiyser 2009 2010 Qenggisser 2009 2010

Crranin Limki@ Hleoapd
WPS® 80,000 80,000 sigLapd 80,000 74,000
8% sLam LGS TLD 80,000 90,000 Qupdmd 60,000 54,000
augporand @msdwg 40,000 49,000 <iewpsear 20,000 28,000
sLafBCsTT 50,000 70,000 sysdmoy 40,000 60,000
QeusgIsHENW 10,000 15,000 sLamaflser 40,000 80,000
LTHNFELH Q&b 20,000 8,000
2,60,000 3,04,000 2,60,000 3,04,000

10. Prepare cash flow statement from the following
balance sheet
Liabilities 1.1.03 1.1.04 Assets 1.1.03 1.1.04

Rs. Rs. Rs. Rs.
Capital 1,560,000 1,53,000 Cash 10,000 7,000
Loan from bank 40,000 50,000 Debtors 30,000 50,000
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Liabilities 1.1.03 1.1.04 Assets 1.1.03 1.1.04

Rs. Rs. Rs. Rs.

Creditors 40,000 44,000 Stock 35,000 25,000

Machinery 80,000 55,000
Land 75,000 1,10,000

2,30,000 2,47,000 2,30,000 2,47,000

During the year machine costing Rs. 10,000
(accumulated depreciation Rs. 3,000) was sold for
Rs. 5,000. The provision for depreciation on
machinery on 1.1.03 was Rs. 25,000 and on 1.1.04
was Rs. 40,000. Net profit for the year 2003 is
Rs. 20,000.

Yereumd @y Hloes@iudalmbg  CGrrés

BLLOTL L dl&ensanit Swmilés.

@L“TQ“;”_'S;G’IT 1.1.03 1.1.04 @gng,@g;&;m 1.1.03 1.1.04

1,50,000 1,53,000 Qrésid 10,000 7,000
EId &L e 40,000 50,000 g g 30,000 50,000
sLafhCsm 40,000 44,000 grEdmiuy 35,000 25,000

@uindyb 80,000 55,000

‘[F,]@)LD 75,000 1,10,000

2,30,000 2,47,000 2,30,000 2,47,000
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11.

12.

BLUL  <garriged . 10,000 ojLgseilancowerer
@Qupdyn (Corbs GCauiwmernd ep. 3,000) em. 50008s
Apsiiu’Lg. Csuwrer egssH 1.1.036 . 25,000.
1.01.0460 em. 40,000 op@w. By ypar® 2003—er
Blar mub em. 20,000 <y,@Lb.

Draw a flexible budget for production at 75% and
100% capacity on the basis of the following data of
50% capacity (1000 units). Materials Rs. 100 p.u
Labour Rs. 50 pu. Direct expenses Rs. 10 p.u.
Administrative expenses (50% fixed) Rs. 40,000
selling and distribution expenses (60% fixed)
Rs. 50,000.

Yemeupd  50% 2.pusd Hper (1000 Hye@sar)
saaudsafledlpbgl 75% wohmid 100% 2.pusd e
Qpdlipey S iulique swuriss.  epoli@urmLsar
@ Adn@ p. 100, 2 el smel jdng . 50,
Crirg ey dng ep. 10, Hlifeurs Geoajsar (50%
Blevawrergl) ep. 40,000, elpuener womd LSTey
Qeeayser (60% Hlaneowmeng) em. 50,000.

Two projects M and N are mutually exclusive are
bring under consideration. Both of them require
an investment of Rs. 1,00,000 each. The net cash
inflows are estimated as under.

Year M N
1 10,000 30,000

2 40,000 50,000
3 30,000 80,000
4 60,000 40,000
5 90,000 60,000
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The company’s targeted rate of return on
investment is 12%. Your are required to assess the
projects under NPV method. Present value of Re. 1
at 12% interest for five years are given below :

1st year — .893
2nd year — .797
3rd year — .712
4th year — .636
5th tear — .567
GTD WHMID eTelm ered @) S LB&GET Bl (Lpenm
UGSSLILDUSHETE o dtatar. @@ S msEHE0
<pyibu (psed® ep. 1,00,000 Coameauiu@dpg. Qrrés
cuTe&6rT LeTel(HLomm) :
<}, 601 () M N

1 10,000 30,000

2 40,000 50,000

3 30,000 80,000

4 60,000 40,000

5 90,000 60,000
Blmwgdern psed® Wsmerm eumwrerd 12% sHGumensguw
wHIY perpuld HiLmsamer WHUEEH Celiweyb.
5 g arhsEns@ Wer QupiL®b . 1 e 12% siflafle
sHCUmengW L
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PSD Y,emriged .893
@\reRTLmD eriged 797
ELPGITMITLD <A, 60 . 712
BTEITHTEUS| <60Tlq 60 .636

BHSMD ,arig.c) .567 @G L.
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